HAVIS

\ Productivity in motion

Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974
800-524-9900 F 215-957-0729

www.havis.com

INSTALL INSTRUCTIONS C-VS-2500-CHGR-2
25” Vehicle Specific Console for 2021-2023 Dodge Charger (Police Package)

TOOLS REQUIRED:

Phillips Screw Driver
7/16 wrench

T-20 Torx Bit

PARTS and MOUNTING HARDWARE:

3

DESCRIPTION

AP P BANNWOERR R

Driver Side Trim Panel
Passenger Side Trim Panel
Sensor Cover

#8 x 1/4’ Phillips Flat head screw
1/4 "x 3/4” Self Threading screw
1/4" x 1” Fender washer

6mm Hex nut

1” x 1” Velcro Hook & Loop
O-Ring

7/8 plug

1/4 Spade terminal

Socket set (Standard & Metric)

PART#
11654
11655
11209
16425
16359
16130
16104
15836
23537
13401
15899

NOTE: WILL NOT WORK ON 12.1 INTEGRATED TOUCH SCREEN

Wire Cutters / Crimping tool

C-VS-2500-CHGR-2_INST_6-24



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974
R N T 800-524-9900 F 215-957-0729
Productivity in motion whwhaviccon

Remove bolts that hold underside of extrusion to rear
floor bracket. (7/16 wrench) Remove rear floor bracket
bolts and center console bolt. (10mm)

Remove forward O.E.M console plastic cover and
remove two (2) nuts from front floor bracket.
Nuts to be reused later. (10mm)

Remove OEM lighter plugs and AUX panel from factory
center console.

Place console housing into vehicle. Slide console
up to the dash and loosely start previously
removed nuts.

Plug O.E.M. wire harness back onto original
connectors.




Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974
N v T 800-524-9900 F 215-957-0729
Productivity in motion whwhaviccon

PR 3

Use 1/4 x 3/4 self-threading screws (included in hardware Attach passenger side trim panel on with # 8 x %” Phillips
kit) to loosely attach rear of console to existing floor head screws.
inserts. Inserts located under rubber mat as shown.

Bl b

A cover is provided to guard the O.E.M. Sensor on
transmission hump. Attach to existing stud and 6mm
nut and washer provided.

Attach driver side trim panel on with # 8 x %"
Phillips head screws.

Ensure OEM aux panel and 12v sockets are Installation is now complete.
plugged in. Wire and mount equipment. C.VS-2500-CHGR-2 INST 6-24




